Tableaux des Puissances de Dix (D)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (D) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 60 000 0,06 0,6 6 000
77 4620000 4,62 46,2 462 000
61 3660000 3,66 36,6 366 000
48 2880000 2,88 28,8 288 000
24 1440 000 1,44 14,4 144 000
6 360 000 0,36 3,6 36 000
X 0,0004 400 0,004 40

8 0,0032 3200 0,032 320
99 0,0396 39 600 0,396 3960
27 0,0108 10 800 0,108 1080
77 0,0308 30 800 0,308 3 080
4 0,0016 1600 0,016 160

X 0,0008 80 0,008 800
34 0,0272 2720 0,272 27 200
62 0,0496 4960 0,496 49 600
28 0,0224 2 240 0,224 22 400
42 0,0336 3 360 0,336 33600
8 0,0064 640 0,064 6 400
X 90 000 900 90 9000
77 6930 000 69 300 6 930 693 000
29 2610000 26 100 2610 261 000
34 3060000 30600 3060 306 000
79 7110000 71100 7110 711 000
86 7 740 000 77 400 7 740 774 000
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